Let A be the 3x3 matrix with rows P,QR.

Its

determivant |Al| or det A is defived as the triple

product P ¢ (Q xR). We get the same result if
P,QR are the columus of A. Cramer's rule in 34:

to solve Px+Qy+Re=S, let

a= Se(QXR), b=Ses(RxP), ¢ =7 *(QxS),
d =P e(QXR). Thewn x=a/d, y=b/d, z=c/A.

(a,b,c,d are four determinants)



An example, rigged to have integer solution

2X+4Yy+162=10; 2x+4y+152=4; 2X+34+132=10
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Solution X=ald=23, y=bld=-3, ¢ =cl[d=1



Determinant of a 3x3 matrix with rows (or
columns) P,QR: P dot (Q xR).

...... also, Q dot (RxP) and R dot (P X Q )
give the same result.

Note QxP=-(PxQ), Pdot (RxQ) =
- P dot ( Q xR), etcetera. More of that later A
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Crossed diagowals formulae

add +he dowwward
products (black) and
subtract the upward
products (red)

2X4x13 =104 2x4x16 =129
4x15%x2 =120 2x15%x2 = 90
16%X2X3 = 40 13x2x4 =104

220-%22 = -2



Cramer's rule problem repeated different
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